XYZ,,=100.0, 100.0 , 100.0
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bz bylz/y 640, _
a0=1, by =-04 )
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linear colour space €5, Y) 1588 ~
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Name Range X, Yy Zy % Yy My N 0

R, 5707756894 464 10.14 05494 0.36%7 568 DO 50

V) 4947775 85.05 95.34 15.49 0.4341 04867 573 463

G, 494570262 59.04 15.45 02601 0.5863536 536c

C, 380570 4116 63.7 99.96 0.2009 0.311 489 598 Parameter:

B, 380_494 25,06 14.76 94.61 0.1864 0.1098 463 573 Y & Name

M, 570 494 83.9 5106 94.65 0.3654 02223 5360536 .

W} 380_775 100.0 100.0 100.0 0.3333 0.3333 100% Numinant EOD
N.'380775 100 100 100 03333 03333 10% Y,,=100 Y,=10

7,380 775180 180 180 03333 03333 18%
BEJ71-5A




